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ADVANCE BODO

Full Marks :100

Pass Marks : 30

Totol rtruttber of pnges - 4

1,x12 = 12

2x72 -- 21

4xL0 = 40

6x4 = 24

Total = 100

20.22

The fipres in the ilmrgin indicate fitll marks
for tlrc questions.

f
Q. rVo. L cnrries 7 nmrk enclr

Q. No. 2 cmries 2 nmrks enclr

Q. No. 3 csrries 4 rta*s eaclt

Q. Ng. 4 cnrries 6 nnrks each

-*

Contd.



1. qH ffe q-q qrfidifu-flq for : 1fr1fuffi) r xt2=r2
(q') "fi$qifr t{H" E-qr{fr e-qnffiqr riq ?

(s) "t qrqq" E-.qlr{orrq 1s-*ffiftq1 qr mNi ?

(r) qrq rTqfftqr fmctrq {i nqqEft € fur r

(s) "tflm-{" E-{nq ffi ffirRqr dr ?

(s) q-€q, {r++0 n"m qHffi qr-+qt{ r

(?) "fislptr{" smtTrfr E{sfrfr ft"gr$ft Tsr ut ?

(E) "A short story is a piece of slice" i ermd iin 1ffi U

(u) "uRfu !fu" dqfofr ggfuftqr Sr ?

(g) "erd ffiiq etTt qFeii" {rqqr{ft ftfiFTftql u\ ?

(q) rffi{ fEsrfr Tsr qr+{ 7

(z) "At oTR rffi" \iq'vaft ffirfrqr ft ?

(B) q-irqr flsT ErErqr) m{ Mrh q6 6ffiqt{ I
(e) "Early History of Kamrup" ffi ffirfrqr et{ I

2. Elqfu qqr ffii *-qf{ furrTq fur: 2xt2=24
(s) rt-{r qdr Td ?

(E) "fisRrr" vetrqrq rf,fi iEqT-ffi{ ggr q,qi{ I
(r) cq< E-q rererT gg-{q' .ri+ mqfut{ € fir{r
(s) d{qrTq \I-{r ffi (Objective) €-{rTi qT{it gd} ?

(s.) t+e-*qo orgrfl gErrq.rii \i('q-€'ffi i furr
(a; "q-g ffi eq-qTq qit" IiE'{e'ffi tdftf{qr d-r ont qrqi

3frqrdlfr{ I
(s) qoqr s-{gi rTrftqTs qT ,lifu ET-{rt qi+fr{ z

(s) ffi enri qr srf,Tqn rcT E.ttr E-*nqftfur ii* ?

(v> fi=. t{IrttftqT funTq rri} s-*ng ffi i furr
(q) "rqrq" e;en{ ffi ffirRqr fr{ 3lTt qlql 3ftsrreFi6 I
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(z) ft-dn g,rft Tri tfiwan ql1drft u=alr{Flftfi t tm{t

(a) "<rsffifl 1ffi ed" E?e{r{eilE{ qrd qfi qTt ffi €{ ?

(s) Errfr 'rftftIftlqr" d-qffi sifftd qqrft sMf ?

(a) qr trffi GfiTi tg5iqqr erw Frffi ( ?

3. rqfu qrqr ffiq diqf{ fu-firq fd{ : 4x10=40

(+') "{Mfr +{rq" Eqr{onE E-qTqFrRqr rflqft {$trsrs qrqG 3[r-{q ffi
s+d?

(E) qrdrq{il rhtm{rTfi tri .nqd rtMri,ii "fri fr{i qid" {rqffi F(<

emt fmr
('r) qt6fr q-fi Tsft gr-dr{ ftfqft ert fd{ r

(s) fr-dta-qfr 5-er ffi qef( t-{q qr.er qrd*t r
(g d-{qr€ qraqt{r ritrrffi qrn Mfrc U

(E) *{r td-qr qnlfird ffi gq-{ cI q.,R t{f*{ 7

(E) qt' gr-dEft riqr t<isr s€t{rfr rjdf dFtfr ffirftft € fott
(q) erq\ {F<qe <i.s fstd qrn A-{rq qrd' ?

(s) 3i-{vr€ ,rt{r qrdr g.d f{f<Fsr ffi st{qrql
(q) q{'€s'sa'ft v.rft<lqrlrti ffiq ffil
(z) IiE's6'fi rrqqrfiHst{r cretR qrtii qkqrqr

(a) Tqqr ,rt{r qrd g-s} fiRfu fad q}qqict

4. qrqfis qrqr ffi drqfr nr;rqrq fs{ : 6x4=24

(q) "etifr (qi srsr" €-qqft 1d qlelrd +ft{ rr*ii fu<t

(g) "trrs t6rq1" 1iq'{€'oT[q tqrq sTrt fr*or qr qr qnn qr+{r+d+{ ?

(rr) q6qr fsfYsrdr qqlfq uql ererrtrt ilfl eriift ?

(q) se!fi qrfflqrmn qt qt ? qrqfu qrqr qt+S #+* fott
(g .Hfr S{id qrcrR ffi Erd "fri *{i 1ffi" sqffi q6 6nri fotr

(q) Ssrq Sfq ffi qtsT{dilil
fti 51qr rffiel'ETril{ I

- nf{ t+Gif E-{ftfiIR-qr q fr{qlri ilFRif ?
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